
Time: 40 Minutes Paper G. Science 7th Total Marks: 25

3rd Month, 1st Week, 6th Day Syllabus: Revision Test syllabus (1st week)

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. The change of liquid into steam is a: ââââùùùù»»»»¸̧̧̧\\\\~~~~ppppssssƒƒƒƒ********ìììì::::
(a) Chemical change 6ðp~ (b) Climatic change M[zƒZ~p~
(c) Physical change 8p~ (d) None Ãð7

2. The bioling point of water is: 0000****ãããã»»»»1111ZZZZ““““7777ZZZZzzzzìììì::::
(a) 50oC (b) 70oC (c) 100oC (d) 120oC

3. Which of the following is not a chemical change?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏ6666ððððpppp~~~~7777ìììì????

(a) Burning of fuel Zgï»S (b) Rusting of Iron ßìÃi8-5

(c) Mating boat of paper »½ÅÏ¯** (d) Digestion of food pgZu»eZ
+C4iï
J
EGHƒ**

4. The change of colour of zinc oxide is a: iiii7777----MMMM‚‚‚‚ààààÆÆÆÆgggg8888----»»»»ppppssssƒƒƒƒ********ìììì::::

(a) Chemical change 6ðp~ (b) Physical change 8p~

(c) Irreversible change Zgg-g]45ÿGEp~ (d) None Ãð7

5. Which of the following is not a chemical process?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚6666ðððð¿¿¿¿7777ìììì????

(a) Combustion W»¿ (b) Rusting g«

(c) Heating of sugar Ø¤/Ã¤/x™** (d) Heating of zinc oxide i7-M‚àÃ¤/x™**

6. Which of the following is formed by the reaction of carbon and oxygen?

ZZZZyyyy~~~~ÐÐÐÐHHHH»»»»gggg0000ZZZZzzzzggggMMMMxxxxÆÆÆÆgggg~~~~ZZZZ½½½½ÐÐÐÐááááCCCCìììì????

(a) CO (b) CO2 (c) H2 CO3 (d) None Ãð7

7. Which of the following are used to make alloy?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyZZZZwwwwññññ¯̄̄̄ääääÆÆÆÆaaaaZZZZEEEEwwwwÅÅÅÅYYYYCCCC÷÷÷÷????

(a) Metals
$45Îæ G
HE (b) Non metals **y$45Îæ GHE

(c) Metalloids $45Õä GHài (d) Halogens ìº

8. Silver needs __________ to tarnish. ||||ggggÃÃÃÃNNNN****ggggøøøøÆÆÆÆaaaa''''''''ÅÅÅÅ¢¢¢¢zzzzgggg]]]]ƒƒƒƒCCCCììììXXXX

(a) Hydrogen halide ;[+gzX[̂+ (b) Hydrogen sulphie ;[+gzXÏà

(c) Hydrogen nitrate ;[+gzX**>f$ (d) Hydrogen peroxide ;[+gzX6,M‚à

9. When sugar is heated, it is changed into:

ZZZZ####ØØØØ¤¤¤¤////ÃÃÃÃ¤¤¤¤////xxxxHHHHYYYY@@@@****ììììÂÂÂÂtttt''''''''''''~~~~ppppssssƒƒƒƒYYYYCCCCììììXXXX

(a) White mass Câk (b) Black mass »Ñâk

(c) Red mass ucâk (d) Brown mass ÈgZâk

10. Which gas is formed when potassium chlorate heated?

ZZZZ####7777NNNN****ôôôô³³³³ggggffff$$$$ÃÃÃÃ¤¤¤¤////xxxxHHHHYYYY@@@@****ììììÂÂÂÂÃÃÃÃyyyyÏÏÏÏ’’’’kkkk����ìììì????

(a) Hydrogen ;[+gzX (b) Chlorine ³g+

(c) Oxygen Mx (d) Nitrogen **>zX

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Define tranishing. N*g$k5ë EIEYÅ°p™,X

(ii) Write the chemical equation of heating of sugar. Ø¤/Ã¤/x™äÅ6ð)zZ]KX

(iii)  What happens by heating nichrome wire? **MzxzZ],Ã¤/x™äÐHƒ@*ì?

(iv) Define combustion. Give example. WÆ¿Å°p™,XVwŠ,X

(v)  How does tranishing happens? N*g$k5ë EIEYùƒCì?

(vi) Define flammability. 
¡Í-

ê
E

GZ
"5Ó4-

ö
EGGHÅ°p™,X

Q.No.3. What is the difference between physical change and chemical

change? Explain physical change with the halp of different examples.    (3)

8888pppp~~~~ZZZZzzzzgggg6666ððððpppp~~~~ÆÆÆÆŠŠŠŠggggxxxxyyyyHHHH����ÛÛÛÛttttìììì????ZZZZVVVVßßßßVVVVÅÅÅÅææææŠŠŠŠÐÐÐÐ8888pppp~~~~ÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX

__________________________________________________________________

1 1


